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Using number bonds in subtraction

The number bond diagram below represents four different addition/subtraction number sentences: 

 



8 + 2 = 10

8 + 2 = 10





10 – 8 = 2  
 
10 – 2 = 8
Here is how number bonds can be used represent the subtraction problem 12 – 5:





Think “12 can be decomposed into 5 and what number?”  






OR think “ 5 plus what number is 12?”

Here are some slightly more difficult subtractions using number bonds and branching:

     18        –      5

8 – 5 = 3
OR            18        –      5     
         =   10 + 8 – 5      




10 + 3 = 13
    


         =   10 + 3 + 5 – 5      









         =   10 + 3 = 13


16        –        13


16 – 13 = (10 – 10) + (6 – 3) 






=  0 + 3 

= 3



      21      –     8

 
21 – 8  = 11 + 10 – 8 
 






= 11 + 2













= 13
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